Assessment #9 121 Schwartz
1. You push on a stick with a force of 40 N. The stick is connectedtoa 2 kg
block so it doesn't slip off the block. | took a picture of you, so you have a
clear idea of what exactly is going on. There is a dynamic coefficient of uN
friction of 0.5 between the wall and the bock. Assume the block starts with
an upward velocity. Find the acceleration of the block.
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Asseszment #9 121 Schwartz

1. You push on a stick with a force of 40 N. The stick Is connected to n 2 kg
block so it doesn't slip off the block. | took a picture of you, so you have a
clear Idea of what exactly |s going on. There s a dynamic coefficlent of
friction of 0.5 between the wall and the bock. Assume the block starts with =z
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2.You see a round floating raft on the water as shown at right. You run
{solid line) and jump onto the edge of the raft, landing where the
dotted lines meet. Qualitatively describe the subsequent motion of
the raft with you on it. Fully support how you came to your answer.
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What’s your name?




